‘EIS

Installation manual for outdoor unit standing

R120400221-V1.2

° _ Please check the package and make sure all the parts are inside. If anything y
missing or damaged, please contact the local distributor. d
Item no, Partname Quantity Note
B _Gmoa manual 1
2 [Vibration damper 4 ¢ 60mm with M8 bolts in two sides
_ 3 _hom 2
| 4 |Horizontal bar 2
5 |Metal foot 4 |[d76
6 |Nut g M8 |
7 [Bolt 6 |M6x20 |
8 |[Expansion bolt | 8 M6x60 |
__ 9 __wv:.:m washer / 6 |96 _
_ 10 |Small flat washer 6 & 6% D12 B |
| 11 _wmmmmﬂimm:oa 7 8 i $89%$31.7

Outlines and dimensions

@®OUS 35-50

unit:mm

Adjustable height
e I

|




